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Figure 1: Segment C,
}F~ % W�!�S:f fit, χ2/d.o.f.= 8415/988

«�¬�­"®F¯�°5± ¡'¢�£:¤5¥
fit ¦c§"©Fª

PHA = 255.484Ex − 1.98330 (Ex < 1.839)
PHA = 255.181Ex − 2.48449 (Ex > 1.839)
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Figure 2: Segment C,
<w|��7IAJ�K d }B~ % W�!5S'f fit, χ2/d.o.f.= 8044/986

Figure 3: Segment C,
J�KQ,.-�<w|��?}B~ % W�!5S'f fit, χ2/d.o.f.= 8415/987

¯�° ¦¨§ «�¬�­ ¡'¢�£:¤5¥ fit ¦c§"©Fª
PHA = 255.056Ex − 1.77003 (Ex < 1.839)
PHA = 255.069Ex − 1.79343 (Ex > 1.839)

¯�° ¦¨§ «�¬�­F² ¢�£:¤5¥ fit ¦c§"©Fª
PHA = −0.73416Ex2 + 256.513Ex − 2.27306 (Ex < 1.839)
PHA = −0.00882537Ex2 + 255.221Ex − 2.07308 (Ex > 1.839)<�|H�YIBJAK d }B~ % W³SN´µ#CJFK],Y-.}:~ % W��"¶�M χ2 · h 4C¸º¹ d f��.�A��#�H��k5!$»�¼�½'��¾Ft.8 354 S ¹ �{T7E�G5f7/D�¿»�¼�½B��¾Ft�8 4 s�t5u�ÀNM?Á d G� 3 ��Â�!
χ2
3 iAj 3 � d G:/Ã� 2 -.#A}A~ % W 3 �?R 1 d ´w!���T.E�G�f'� 3 #��~ % W�!�,YED�)Ä'Å 4 d G'/B�F���H�.�5�'Æ'À 3�4 }A~ % W 3'ÇBÈ  wÉH� 1 f7/
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¯�° ¦¨§ «�¬�­ ¡'¢�£:¤5¥ fit ¦c§"©Fª
PHA = 255.787Ex − 3.26223 (Ex < 1.839)
PHA = 255.383Ex − 2.51927 (Ex > 1.839)
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Figure 4: Segment C,
J�KQ,.-�<w|��'�:~ % W�!5S'f fit, χ2/d.o.f.= 8224/985

Figure 5: Segment A,
JFK�,�-{<�|5�7}F~ % W�!�S:f fit, χ2/d.o.f.= 7038/1114

¯�° ¦¨§ «�¬�­F² ¢�£:¤5¥ fit ¦c§"©Fª
PHA = −2.66276Ex2 + 261.315Ex − 5.45173 (Ex < 1.839)
PHA = −0.0548188Ex2 + 256.115Ex − 3.71143 (Ex > 1.839)

Figure 6: Segment A,
JFK�,�-{<�|5�?�B~ % W�!�S:f fit, χ2/d.o.f.= 5357/11120C1 �C#�}F~ % W 3AÇ:È ^HÑ ÌÒ/
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Segment B¯�° ¦¨§ «�¬�­ ¡'¢�£:¤5¥ fit ¦c§"©Fª
PHA = 247.760Ex − 0.979895 (Ex < 1.839)
PHA = 247.946Ex − 1.32061 (Ex > 1.839)

Figure 7: Segment B,
JFK�,�-{<�|5�7}F~ % W�!�S:f fit, χ2/d.o.f.= 9395/1097

¯�° ¦¨§ «�¬�­F² ¢�£:¤5¥ fit ¦c§"©Fª
PHA = −1.12837Ex2 + 249.751Ex − 1.63738 (Ex < 1.839)
PHA = −0.0698787Ex2 + 248.768Ex − 5.23212 (Ex > 1.839)

Figure 8: Segment B,
JFK�,�-{<�|5�?�B~ % W�!�S:f fit, χ2/d.o.f.= 8244/1095`?Ó a ��»�¼�½'��¾FtY8 3 � bF1 MBÔ�Ô³Õ ; |A/
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Segment D¯�° ¦¨§ «�¬�­ ¡'¢�£:¤5¥ fit ¦c§"©Fª
PHA = 250.684Ex − 2.47682 (Ex < 1.839)
PHA = 250.756Ex − 2.60784 (Ex > 1.839)

Figure 9: Segment D,
J�Kz,$-�<c|��"}A~ % W�!�S:f fit, χ2/d.o.f.= 7435/749

¯�° ¦¨§ «�¬�­F² ¢�£:¤5¥ fit ¦c§"©Fª
PHA = −1.27464Ex2 + 253.050Ex − 3.21257 (Ex < 1.839)
PHA = −0.0589743Ex2 + 251.451Ex − 3.91894 (Ex > 1.839)

Figure 10: Segment D,
J�Kz,$-�<c|��:�'~ % W�!NS'f fit, χ2/d.o.f.= 6612/748�A~ % W��:¶�M?�{T"E�GNf5S5Ì$!N��v�Ö5f:M:#]`�ÌF,YE��$s�t5u�À��.��G"×�¼H½��¾'tY8 3 ���F�HE�, 2 Ì)� 3 #

>10 keV Ø -{´ 3"Ù �7� bF1 M�Õ ; | � 0 � ÙDÚ�4Û �
Segment

!N�Cv ac1 f��Ü/:�:~ % W��¨���� Nf)ÏA��# Si-edge ÝAÞ !5� % W�ß��$àá �¨â
T?-:¶HMHGFGFã���, 1 d G'/
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